

ON THE HIERARCHY OF CONVEXITY OF FUNCTIONS

GH. TOADER
(Cluj-Napoca)

In the first part of this paper we simplify the proof of the main theorem of A. M. Bruckner and E. Ostrow from [4]. In the second part we extend this result, simplifying also some proofs from our paper [8].

Let us denote the classes of continuous, convex, starshaped, respectively superadditive functions, by :

$$C(b) = \{f : [0, b] \rightarrow \mathbb{R}, f(0) = 0, f \text{ continuous}\}$$

$$K(b) = \{f \in C(b); f(tx + (1-t)y) \leq tf(x) + (1-t)f(y), \\ \forall t \in (0,1), \forall x, y \in [0,b]\}$$

$$S^*(b) = \{f \in C(b); f(tx) \leq tf(x), \forall t \in (0,1), x \in [0,b]\}$$

$$S(b) = \{f \in C(b); f(x+y) \geq f(x) + f(y), \forall x, y, x+y \in [0, b]\}.$$

In what follows we need some well known results (see [4]). They are more general, but we prove only the form that we use.

LEMMA 1. *If the convex function f is differentiable, then f' is non-decreasing.*

Proof. Let us suppose $x > y$. From the definition we have :

$$\frac{f(y + t(x - y)) - f(y)}{t(x - y)} \leq \frac{f(x) - f(y)}{x - y}$$

which gives :

$$f'(y) \leq \frac{f(x) - f(y)}{x - y}.$$

Replacing t by $1 - t$, we obtain similarly :

$$\frac{f(x) - f(y)}{x - y} \leq f'(x).$$

LEMMA 2. *The function f is starshaped if and only if $f(x)/x$ is non-decreasing.*

Proof. If $0 < x < y$, from $f(ty) \leq tf(y)$ and $t = x/y$ we have : $f(x) \leq (x/y)f(y)$. Conversely, if $t \in (0,1)$, $tx < x$ and so $f(tx)/(tx) \leq f(x)/x$ gives the starshapedness of f .

LEMMA 3. If the function f is differentiable, then it is starshaped if and only if: $f'(x) \geq f(x)/x$.

Proof. The function $f(x)/x$ is nondecreasing if and only if:

$$[f(x)/x]' = [f'(x)x - f(x)]/x^2 \geq 0.$$

LEMMA 4. For any $b > 0$ hold the inclusions:

$$K(b) \subset S^*(b) \subset S(b).$$

Proof. a) If $f \in K(b)$, $t \in (0,1)$ and $x \in [0,b]$ then:

$$f(tx) = f(tx + (1-t)0) \leq tf(x) + (1-t)f(0) = tf(x)$$

that is $f \in S^*(b)$.

b) If $f \in S^*(b)$ and $x, y, x+y \in [0, b]$, then, by lemma 2, we have:

$$f(x+y) = x \frac{f(x+y)}{x+y} + y \frac{f(x+y)}{x+y} \geq x \frac{f(x)}{x} + y \frac{f(y)}{y}$$

and so, $f \in S(b)$.

Remark 1. These simple inclusions were not always known. So, in [5] it is proved that if f is convex and subadditive then $f(x)/x$ is non-increasing. In fact it is constant (if $f(0) = 0$).

Definition 1. The function f has the property "P" in the mean, if the function:

$$(1) \quad F(x) = \frac{1}{x} \int_0^x f(t) dt, \quad x > 0; \quad F(0) = 0$$

has the property "P".

Let us denote by: $MK(b)$, $MS^*(b)$ and $MS(b)$ the sets of functions which are convex, starshaped, respectively superadditive in the mean. The main result from [4] is:

THEOREM 1. For any $b > 0$ hold the strict inclusions:

$$(2) \quad K(b) \subset MK(b) \subset S^*(b) \subset S(b) \subset MS^*(b) \subset MS(b).$$

Proof. a) Making in (1) the change of variable: $t = xu$, it becomes (see [3]):

$$(3) \quad F(x) = \int_0^1 f(xu) du.$$

If $f \in K(b)$, then for every $t \in (0,1)$ and $x, y \in [0, b]$ we have:

$$F(tx + (1-t)y) = \int_0^1 f(txu + (1-t)yu) du \leq$$

$$\leq \int_0^1 (t \cdot f(xu) + (1-t) \cdot f(yu)) du = tF(x) + (1-t)F(y)$$

that is $f \in MK(b)$.

b) From (1) we have:

$$(4) \quad f(x)/x = F'(x) + F(x)/x$$

and if F is convex F' is nondecreasing and by lemmas 4 and 2, $f \in S^*(b)$.

c) The inclusion $S^*(b) \subset S(b)$ was proved in Lemma 4. It implies also the inclusion: $MS^*(b) \subset MS(b)$.

d) Let $f \in S(b)$. Then, for every $x \in [0, b]$ and every $u \in (0,1)$:

$$f(x) = f(xu + (1-u)x) \geq f(xu) + f((1-u)x)$$

and so:

$$f(x) - 2F(x) = \int_0^1 (f(x) - 2f(xu)) du \geq \int_0^1 (f((1-u)x) - f(xu)) du = \int_0^1 f((1-u)x) du - \int_0^1 f(ux) du = 0.$$

But this, by Lemma 3 and by relation (4) is equivalent with $f \in MS^*(b)$.

The strictness of the inclusions (2) was proved in [3] by more examples. A beautiful proof of this fact was also given by E.F. Beckenbach in [2], showing that the function $f(x) = (1 + 1/x) \exp(-1/x)$ is in $K(1/3)$, $MK(1/2)$, $S^*((5-1)/2)$, $S(0.8955\dots)$, $MS^*(1)$ and $MS(1/\log 2)$ (the values of b being in every case the greatest possible).

Remark 2. In [6] it was considered the more general mean:

$$(5) \quad F_g(x) = \frac{1}{g(x)} \int_0^x g'(t) f(t) dt, \quad F_g(0) = 0.$$

Related to it, we have given in [8] the following result, whose proof we want to simplify.

THEOREM 2. If the transformation (5) preserves the convexity (the starshapedness or the superadditivity) then the function g is of the form:

$$(6) \quad g(x) = kx^a, \quad a > 0, \quad k \neq 0.$$

Proof. The function $f_0(x) = cx$ is in $K(b)$ for any $c \in R$, and so by lemma 4:

$$F_{f_0}(x) = \frac{c}{g(x)} \int_0^x g'(t) t dt$$

must be in $S(b)$. But c being of arbitrary sign, this happens if and only if, for $c = 1$, it verifies :

$$F_0(x+y) = F_0(x) + F_0(y)$$

for any $x, y, x+y \in [0, b]$. Thus (see [1]) : $F_0(x) = kx$ which gives (6) with $a \neq 0$. But, if $a < 0$, (5) is not defined for $f(t) = C$, thus we must take $a > 0$.

Remark 3. As was pointed out to me by prof. J.E. Pečarić, such a result was also proved by I.B. LACKOVIĆ in his doctoral dissertation using :

$$F_g(x) = \int_0^x g(t) f(t) dt / \int_0^x g(t) dt$$

instead of (5).

Remark 4. Denoting by F_a the function (5) with g given by (6), we have :

$$(7) \quad F_a(x) = \frac{a}{x^a} \int_0^x t^{a-1} f(t) dt$$

and so :

$$(8) \quad f(x) = F_a(x) + (x/a) F'_a(x).$$

If we make in (7) the substitution (see [6]) : $t = xu^{1/a}$, it becomes :

$$(9) \quad F_a(x) = \int_0^1 f(xu^{1/a}) du.$$

In what follows we shall prove that the condition from theorem 2 is also sufficient. For this, let us denote by $M^a K(b)$, $M^a S^*(b)$ and $M^a S(b)$, the sets of functions $f \in C(b)$ with the property that the corresponding functions F_a belong to $K(b)$, $S^*(b)$ respectively $S(b)$.

THEOREM 3. For any $b > 0$ and any $a > 0$ hold the following inclusions :

$$(10) \quad K(b) \subset M^a K(b) \subset S^*(b) \subset S(b) \\ \cap \quad \cap \\ M^a S^*(b) \subset M^a S(b).$$

Proof. a) If $f \in K(b)$, $t \in (0,1)$, $x, y \in [0, b]$, then, by (9) :

$$F_a(tx + (1-t)y) = \int_0^1 f(txu^{1/a} + (1-t)yu^{1/a}) du \leq \\ \leq \int_0^1 (tf(xu^{1/a}) + (1-t)f(yu^{1/a})) du = tF_a(x) + (1-t)F_a(y)$$

thus $f \in M^a K(b)$.

b) If $f \in M^a K(b)$, taking into account (8), we have :

$$f(x)/x = F_a(x)/x + F'_a(x)/a$$

thus, by lemmas 1, 2 and 4, $f \in S^*(b)$. Lemma 4 gives also the inclusions :

$$S^*(b) \subset S(b) \text{ and } M^a S^*(b) \subset M^a S(b).$$

c) If $f \in S^*(b)$, $t \in (0,1)$ and $x \in [0, b]$, using (9), we have :

$$F_a(tx) = \int_0^1 f(txu^{1/a}) du \leq \int_0^1 t f(xu^{1/a}) du = tF_a(x)$$

that is $f \in M^a S^*(b)$.

d) For $f \in S(b)$, $x, y, x+y \in [0, b]$, we have also :

$$F_a(x+y) = \int_0^1 f((x+y)u^{1/a}) du \geq \int_0^1 (f(xu^{1/a}) + f(yu^{1/a})) du = \\ = F_a(x) + F_a(y)$$

thus $f \in M^a S(b)$.

Remark 5. To prove the strictness of the inclusions, we may proceed for $a \neq 1$ as was done in [2] for $a = 1$: let $F(x) = \exp(-1/x)$ for $x \neq 0$ and $F(0) = 0$. From (8) we get : $f(x) = (1 + 1/ax) \cdot \exp(-1/x)$ for $x \neq 0$ and $f(0) = 0$. If we denote by $k, k_a, s^*, s_a^*, s, s_a$ the largest value of b , for what f belongs to $K(b), M^a K(b), S^*(b), M^a S^*(b), S(b)$ respectively $M^a S(b)$, we have from [2] : $k_a = 1/2, s_a^* = 1$ and $s_a = 1/\ln 2$. As $f''(x) \geq 0$ only for $x \in [(a-4 - \sqrt{a^2+8})/(4a-4); (a-4 + \sqrt{a^2+8})/(4a-4)]$, we have $k = 0$ if $0 < a < 1$ and $k = (a-4 + \sqrt{a^2+8})/(4a-4) < 1/2$ if $a > 1$. Using Lemma 3 we have also $s^* = (a-2 + \sqrt{a^2+4})/2a < 1$. Applying Bruckner's test (see [2]), we obtain also that s is the unique positive solution of the equation :

$$ax(\exp(1/x) - 2) = 4 - \exp(1/x)$$

thus : $1/\ln 4 < s < 1/\ln 2$. So :

$$k < k_a < s^* < s_a^* < s_a \text{ and } s < s_a.$$

We remark also that $1/\ln 4 < 1 = s_a^*$, that is, for $0 < a < 1$ we can have $s < s_a^*$ and so $S(b) \not\subset M^a S^*(b)$.

Remark 6. In [7] was proved that if $0 < a < c$ then :

$$M^a K(b) \supset M^c K(b) \text{ and } M^a S^*(b) \supset M^c S^*(b).$$

Thus (10) extends to :

$$K(b) \subset M^c K(b) \subset M^a K(b) \subset S^*(b) \subset S(b) \\ \cap \quad \cap \\ M^c S^*(b) \subset M^c S(b) \\ \cap \\ M^a S^*(b) \subset M^a S(b).$$

Moreover, if $0 < a < 1$:

$$S(b) \subset M^1 S^*(b) = M S^*(b) \subset M^a S^*(b).$$

We do not know if it is true that:

$$M^c S(b) \subset M^a S(b).$$

We have proved also similar results for sequences (see [9]).

REFERENCES

- [1] Aczél, J., *Lectures on functional equations and their applications*, Academic Press, New York — London, 1966.
- [2] Beckenbach, E. F., *Superadditivity inequalities*, Pacific J. Math. **14**(1964), 421—438.
- [3] Boyd, D., *Review 480* (I.B. Lacković: *On convexity of arithmetic integral mean*, Publ. Elektrotehn. Fak. Univ. Beograd. 381—409 (1972), 117—120), Math. Rev. **18**(1974), 1, 91.
- [4] Bruckner, A. M. and Ostrow, E., *Some function classes related to the class of convex functions*, Pacific J. Math. **12** (1962), 1203—1215.
- [5] Hille, E. and Phillips, R. S., *Functional analysis and semi-groups*, A.M.S. Colloquium Publ. XXXI, Providence, 1957.
- [6] Mocanu, C., *Monotony of weight-means of higher order*, Analyse Numér. Théor. Approx. **11**(1982), 115—127.
- [7] Mocanu, C. *Doctoral thesis*, "Babeş-Bolyai" University, Cluj-Napoca, 1982.
- [8] Toader, Gh., *An integral mean that preserves some function classes*, Bulet. Inst. Politehnic Cluj-Napoca, Ser. Mat.-Mec. Apl., **27**(1984), 17—20.
- [9] Toader Gh., *Starshaped sequences*, Analyse Numér. Théor. Approx., **14**(1985), 2, 147—151.

Received 6.III.1986

Catedra de Matematici
Institutul Politehnic
R-3400 Cluj-Napoca